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What an assessor is 
looking for...
This short guide aims to make clear what an assessor for 

Innovate UK competitions is looking for. All of the Innovate UK 

funding programmes follow a similar pattern and you should 

bear in mind that the questions are designed to help rather than 

trip you up. It is important that you answer the questions asked 

and cover all aspects the Guidance for Applicants describes. 

You should try to use the language they are looking for: the 

easier you make it for the assessor to understand and check 

VɈ�[OL� PUMVYTH[PVU� [OL`�ZLLR�� [OL�TVYL� SPRLS`� [OL�WYVWVZHS�^PSS�
score highly.  

The guidance that follows is for the standard 10 questions 

in a SMART Proof of Concept or Development of Prototype 

application but the same approach is largely transferable to all 

competitions.

.LULYHSS`� [OL� ÄYZ[� MV\Y� X\LZ[PVUZ� ZOV\SK� IL� \ZLK� [V� KLZJYPIL�
the business plan relating to the project and the remaining six to 

KL[HPS�[OL�WYVWVZLK�WYVQLJ[�HUK�OV^�[OH[�Ä[Z�^P[OPU�[OL�I\ZPULZZ�
WSHU��(]VPK�Z[HY[PUN�VɈ�I`�[Y`PUN�[V�L_WSHPU�OV^�NYLH[�`V\Y�PKLH�
PZ�VY�OV^�JSL]LY�[OL�[LJOUVSVN`�PZ��;OL�ÄYZ[�WHY[�PZ�HIV\[�ZL[[PUN�
the context for the market need and how that will be addressed 

and this must be laid out in as compelling and logical a way 

HZ�WVZZPISL�� 0U� LZZLUJL�� [OLZL�X\LZ[PVUZ� HYL� MVY� [OL� HZZLZZVY�
to address the four fundamental questions for any Innovate UK 

investment:

General Advice

1. Is it a big enough market? Does it represent value for money 

compared to the investment requested? 

���*HU�[OL�PUUV]H[PVU�IL�^VYSK�SLHKPUN&�0Z�[OL�PKLH�Z\ɉJPLU[S`�
distinctive and strong to be successfully exploited in the UK? 

3. Is it at the right stage of development? It must be market 

KYP]LU��YH[OLY�[OHU�WYLKVTPUHU[S`�H�YLZLHYJO�WYVQLJ[�

4. Why should we use public money to help? What 

additionality over and above the normal course of business 

will be achieved?
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Q1. Business opportunity
(IV]L�HSS��[OL�HZZLZZVY�PZ�SVVRPUN�[V�\UKLYZ[HUK�[OL�ULLK�
and customer demand. What is the problem you are 

addressing? Is it a credible business opportunity? This 

T\Z[�IL�SHPK�V\[�ÄYZ[�ILMVYL�`V\�ILNPU�[V�KLZJYPIL�`V\Y�
idea. Poor responses talk too much about the solution 

^P[OV\[� ÄYZ[� KLZJYPIPUN� [OL� PZZ\L�� (U� PKLHS� YLZWVUZL�
explains why that market need exists (what is driving it) 

and what is required to meet it before describing how 

it will be addressed. This robust linkage between your 

proposed solution and its commercial outcomes must 

IL� ZWLS[� V\[�� (Z� [OPZ� PZ� [OL� ÄYZ[� X\LZ[PVU�� [OL� VWLUPUN�
ZLU[LUJLZ�HYL�WHY[PJ\SHYS`�PTWVY[HU[��HUK�ULLK�[V�THRL�
it crystal clear to the assessor what the need is and what 

they will be reading about.

Q2. The market
The assessor is looking to see whether you understand 

the potential market for your project. The nature of 

the market you describe must relate to the need you 

described in Q1. The best responses use current market 

data references (try to avoid wildly optimistic projections!) 

and describe the wider picture before focusing on the 

market share expected for your solution. The dynamics 

of the market are also important: 

�&�0Z�P[�NYV^PUN࠮
�&]V^�MHZ/�࠮
�&]OH[�[YLUKZ�HɈLJ[�P<�࠮
�&OH[�PZ�[OL�JVTWL[P[PVU<�࠮
&`OH[�HYL�[OL�IHYYPLYZ�[V�LU[Y<�࠮

6UJL� [OPZ�OHZ�ILLU�THKL�JSLHY�� `V\�T\Z[�V\[SPUL�`V\Y�
strategy to access the market. The assessor wants to see 

if this is realistc. If you cannot explain how your product 

^PSS�IL�THKL�VY�̂ OV�̂ PSS�YL[HPS�P[��̀ V\�̂ PSS�IL�THYRLK�KV^U��
Don’t claim too much – the assessor knows what is 

WVZZPISL�HUK�HZ�MHY�HZ�YL[\YU�VU�PU]LZ[TLU[�PZ�JVUJLYULK��
wants to see if the investment of public funding is value 

for money. The KTN has a tool available to help estimate 

return on investment expressed in GVA terms: For more 
information, contact claire.claessen@ktn-uk.org.

Q3. Exploitation
This question is focused on how you will make money 

MYVT� [OL� PKLH� ¶� P�L�� [OL� OLHY[� VM� `V\Y� I\ZPULZZ� WSHU��
placed in the context of the market opportunity (Q1) and 

THYRL[�ZPaL��8����/LYL�P[�PZ�PTWVY[HU[�[V�LTWOHZPaL�^OH[�
the expected outputs of the project will be that can be 

L_WSVP[LK�� HUK� OV^� [OL`� ^PSS� IL� L_WSVP[LK!� `V\Y� ZHSLZ�
service model and plans. These need to appear credible 

to the assessor and the projections for growth and 

market share must be robust and on a realistic timescale. 

,ZZLU[PHSS �̀� [OL� KL[HPS� `V\� WYV]PKL� OLYL� PZ� Z\WWVY[PUN�
your claims of market capture in Q2 and the assessor is 

trying to establish whether it is likely to succeed. A badly 

KLÄULK�THYRL[� VWWVY[\UP[`� JHU� VM[LU� JVTL� \UKVUL� H[�
[OPZ� WVPU[�� ^P[O� [OL� HZZLZZVY� ^HY`� [OH[� `V\Y� WYVWVZLK�
project is more ‘technology push’ than ‘market pull’.

Q5. Project Plan
It is important to explain what you will do in the project 

– i.e. how you will address the critical success factors 

described in Q1. The assessor wants to understand 

the technical approach and although they tend to be 

RUV^SLKNLHISL� PU� `V\Y� ZLJ[VY�� `V\� ZOV\SK� UV[� HZZ\TL�
familiarity with all the technical aspects. Avoid jargon 

and acronyms and break down the project into key work 

packages and milestones. 
 

The project is best summarised in a gantt chart (included 

as an appendix – this is mandatory for SMART and 

allowable for second stage CR&D competitions) and 

each task explained. Provide an appropriate level of 

KL[HPS�¶�H�OHUKM\S�VM�[HZRZ�PZ�[VV�SP[[SL��I\[�IYLHRPUN�KV^U�
every week is too much. The tasks should be clear on 

YLZV\YJL� HSSVJH[PVU�� JVZ[� HUK� PU[LYKLWLUKLUJ`� ^P[O�
other tasks. 

;OPZ� YLZWVUZL� ZOV\SKU»[� IL� [YLH[LK� HU`� KPɈLYLU[S`�
to most internal project plans. The assessor is 

SVVRPUN� [V� ZLL� PM� [OL� WSHU� PZ� YLHSPZ[PJ�� ^OL[OLY� [OLYL� PZ�
Z\ɉJPLU[�YLZV\YJL� �HUK�^OLYL� P[� PZ�JVTPUN�MYVT��HUK� PM�
management will be an issue. Make clear the reporting 

SPULZ��LZWLJPHSS`�^P[O�T\S[PWSL�Z\I�JVU[YHJ[Z�VY�WHY[ULYZ��
The assessor is looking to see if the plan will achieve on 

the project objectives and will have considerable project 

management experience so make sure it is clear and all 

adds up!

5���&IRI½XW
/LYL�`V\�HYL�KLZJYPIPUN�ILULÄ[Z�MVY�[OL�WYVQLJ[�WHY[ULYZ��
but also outside the project. The applications that do 

^LSS�NV�IL`VUK�YLZ[H[PUN�[OL�JVTTLYJPHS�ILULÄ[Z�VM�[OL�
PKLH��HUK�HSZV�LTWOHZPaL�[OL�̂ H`Z�PU�̂ OPJO�V[OLYZ�TPNO[�
ILULÄ[��.P]LU�[OH[�[OLZL�HYL�W\ISPJ�M\UKZ��P[�PZ�PTWVY[HU[�
to demonstrate that the project will be helping more 

[OHU�Q\Z[�[OL�WYVWVZLY��@V\�T\Z[�WYV]PKL�ILULÄ[Z� PU�HSS�
categories and explain how these can be achieved by 

your business strategy. These are likely to include:

Economic:�;V�`V\Y�J\Z[VTLYZ��`V\Y�Z\WWS`�JOHPUZ�HUK�
[OL� IYVHKLY� ZLJ[VY� ¶� WLYOHWZ� [OYV\NO� L_WVY[Z�� YHPZLK�
visibility of the sector or competitiveness of the UK.

Social:�;OLZL�JHU�PUJS\KL�YLNPVUHS�ILULÄ[Z��PU�[LYTZ�VM�
SVJHS�LTWSV`TLU[�HUK�JS\Z[LYNYV^[O"�J\Z[VTLY�ILULÄ[Z�
PU�[LYTZ�VM�X\HSP[`�VM�SPML��LK\JH[PVU��LTWV^LYTLU[�L[J"�
LTWSV`LL�ILULÄ[Z�Z\JO�HZ�ZHMLY�^VYRPUN�LU]PYVUTLU[��
skill development etc.

Environmental:�;OPZ�JHU�JV]LY�LTPZZPVUZ��[V�HPY��^H[LY�
HUK� NYV\UK��� YH^� TH[LYPHS� JVUZ\TW[PVU� �PUJS\KPUN�
^H[LY���LULYN`�LɉJPLUJ �̀�IPVKP]LYZP[ �̀�^HZ[L�H]VPKHUJL��
YLJ`JSPUN�� VY� TVYL� Z\Z[HPUHISL� I\ZPULZZ� TVKLSZ� VY�
consumer behaviour.

0U� HSS� JHZLZ�� KVU»[� PNUVYL� [OL� WV[LU[PHS� ULNH[P]L�
PTWHJ[Z��;OLZL�ZOV\SK�IL�KL[HPSLK�HUK�[OLPY�TP[PNH[PVU�
TPUPTPZH[PVU� KLZJYPILK� VY� Q\Z[PÄLK�� 0M� [OL� HZZLZZVY�
Q\KNLZ�[OH[�̀ V\Y�WYVQLJ[�PZ�WV[LU[PHSS`�KHTHNPUN��HUK�[OH[�
`V\�OH]LU»[�JVUZPKLYLK�[OPZ��P[�^PSS�ZJVYL�]LY`�SV �̂�

Innovate UK have developed a practical tool that 
can help develop your thinking around this question: 
http://horizons.innovateuk.org/. 
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Q6. Innovation
;V� ZJVYL� OPNOS �̀� [OL� WYVQLJ[� ULLKZ� [V� KPZWSH`� [LJOUPJHS�
(pushing the boundaries of a technology or applying it to 

a new problem) AND commercial (addressing a need in 

a novel way) innovation. Make it explicit to the assessor 

how your project does both of these and use language 

to make the innovation easy to identify. The assessor 

will be looking to see if the innovation levels are step-

JOHUNL�¶�P�L��YHKPJHSS`�KPɈLYLU[�YH[OLY�[OHU�HU�PUJYLTLU[HS�
improvement.

>P[OV\[� THRPUN� ^PSK�� \UZ\IZ[HU[PH[LK� JSHPTZ�� `V\�
need to make sure that your idea is genuinely novel 

and that it doesn’t come  across as too incremental 

or inconsequential. The assessor is also interested in 

understanding if the innovation can be enabling and 

\UKLYWPUUPUN�� P�L�� KVLZ� P[� OH]L� [OL� WV[LU[PHS� [V� KYP]L�
improvements in multiple applications across a wide 

scope.

Q7. Risks
-PYZ[�VM�HSS��YPZR�PZ�UV[�H�IHK�[OPUN��-VY�H�YHKPJHSS`�PUUV]H[P]L�
WYVQLJ[��YPZR�PZ�SPRLS`�[V�IL�OPNO�HUK�0UUV]H[L�<2�HWWYLJPH[LZ�
this. Rating risk overall as low will mark down your score 

– the question arises why you need public support to de-

YPZR�[OL�WYVQLJ[�PM� P[� PZ�HSYLHK`�SV^�YPZR��:LJVUKS �̀�LUZ\YL�
you undertake a complete risk assessment across all the 

categories listed. Many proposals ignore or give scant 

attention to commercial and environmental risks and are 

marked down because of it. You must describe mitigation 

Z[YH[LNPLZ� MVY� LHJO� PKLU[PÄLK� YPZR� �HUK� YH[L� LHJO� VUL���
This is not about coming up with reasons for why this risk 

PZU»[� H� WYVISLT�� I\[� YH[OLY� H� Z[YH[LN`� `V\�^PSS� MVSSV^� [V�
minimise and control the risk. Best practice is to provide 

H� [HISL� ^P[O� [OL� OLHKPUNZ!� 9PZR�� 9H[PUN�� 0TWHJ[�� HUK�
4P[PNH[PVU��*VTTLYJPHS�YPZRZ�TH`�PUJS\KL�SVZPUN�WHY[ULYZ�
Z\I�JVU[YHJ[VYZ��Z[HɈ��JOHUNLZ�PU�THYRL[�VY�YH^�TH[LYPHSZ�
costs etc. Environmental risks could include generation of 

UL^�^HZ[L�Z[YLHTZ�VY�LTPZZPVUZ��PUJYLHZLK�LULYN`�\ZL�VY�
demand from users.

Q8. Skills / Project consortium
The assessor wants to understand if the project partners 

OH]L� [OL� ZRPSSZ�� L_WLYPLUJL�� YLZV\YJL� HUK� MHJPSP[PLZ� [V�
carry out the project AND exploit the results themselves. 

Many projects fall down here on the route to market 

aspect and don’t demonstrate that they have engaged 

likely customers or manufacturers. The assessor wants 

L]PKLUJL�[V�NP]L�[OLT�JVUÄKLUJL�[OL�WYVQLJ[�̂ PSS�WYVJLLK�
as described and will be likely to deliver the intended 

outcomes after the project has ended (projections in Q3). 

One aspect here is why a sub-contractor or partner has 

ILLU� PUJS\KLK�¶�^OH[�]HS\L�HYL� [OL`�IYPUNPUN��HUK� PZ� P[�
core to the delivery of the project?

Q9. Finances
;OL�HZZLZZVY�PZ�Q\KNPUN�]HS\L�MVY�TVUL`�PU�[OPZ�YLZWVUZL��
HUK� [OL`�^PSS� ZJY\[PUPZL� [OL� JVTW\SZVY`� ÄUHUJLZ� MVYT��
Take time and care with this and ensure costs are in 

[OL� YPNO[� ZLJ[PVUZ�� L�N�� KVU»[� W\[� JHWP[HS� LX\PWTLU[�
in materials. Make sure the resource allocation in the 

project plan match the labour costs. Overheads need to 

be realistic – too low is as bad as too high. Don’t be 

vague with descriptions of costs. The assessor will be 

asking the following key questions: Is the budget right 

for the size and complexity of project described? Is it in 

line with the project plan? You should also make clear 

where the commitment for the balance of the project 

costs is coming from. Use the response to address this 

HUK�L_WSHPU�[OL�JVZ[Z�PU�[OL�MVYT��WHY[PJ\SHYS`�PM�[OL`�HYL�
OPNO�� ;OL� ÄUHUJLZ� MVYT� �^OPJO� PZ� HU� L_JLS� ^VYRIVVR��
should be distinct from the section.

Q10. Additionality
This question is simpler than it used to be. Essentially 

you are explaining why public money should be used 

on your project. Ideally by now you will have described 

such a compelling and exciting project that you yourself 

^PSS� Z[HY[� [V�^VUKLY�^O`� P[� L]LU�ULLKZ�W\ISPJ� OLSW��:V��
`V\� ULLK� [V� L_WSHPU� ^O`� `V\� JHU»[� HɈVYK� P[�� HUK� [OLU�
ZOV^� ^O`� JVTTLYJPHS� ÄUHUJL� PZU»[� H]HPSHISL�� ;OL� RPUK�
of answer that assessors are looking for here usually 

YLSH[LZ�[V�YPZR!�P�L��0[�PZ�[VV�YPZR`�MVY�JVTTLYJPHS�PU]LZ[VYZ��
hence Innovate UK funds could help to get through this 

stage of development. Other important factors include: 

reducing the time to market in order to get there ahead of 

JVTWL[P[VYZ��[V�PUJYLHZL�[OL�HTV\U[�VM�9
+�[HRPUN�WSHJL�
PU�[OL�<2��VY�[V�MHJPSP[H[L�H�UL^�9
+�JVSSHIVYH[PVU�

Use these carefully. Assessors don’t want pages and pages 

of back-up data or technical jargon. Appendices shouldn’t 

ZPTWS`�IL� SVUNLY�YLZWVUZLZ�[V�[OL�WYLJLKPUN�X\LZ[PVUZ��
but rather be used to provide graphic summaries. Note 

the limits for appendices – assessors are instructed not 

to consider anything that goes beyond these. The best 

appendices contain graphical data supporting the market 

description and return on investment assumptions in the 

LHYS`�X\LZ[PVUZ��8��
�����H�ULH[�.HU[[�JOHY[�VM�[OL�WYVQLJ[�
[PTLSPULZ��8����WLYOHWZ�HU�VYNHUVNYHT�ZOV^PUN�YLWVY[PUN�
SPULZ� �8���� HU`� KPHNYHTZ� [OH[� L_WSHPU� [OL� [LJOUPJHS�
innovation so an assessor can more easily understand 

[OL�JVUJLW[��8��
�����H�M\SS�YPZR�HZZLZZTLU[�[HISL��8���HUK�
brief biographies of all partners (Q8).

Appendices
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This guidebook was produced by the KTN. 
For more information please visit: www.ktn-uk.org


